

## PARTNERS empowerher uk



empowerHER UK was formed with a very specific mission—to empower, support and connect girls and young women who have experienced the loss of their mothers. empowerHER UK **EVENTS** for **GIRLS** offer peer support and a caring community, reminding the girls they are not alone in their grief. Additionally, empowerHER UK offers a **MENTOR PROGRAM** with positive role models for year-round support. empowerHER UK is a true pioneer in children's bereavement and serves girls of mother loss in a volunteer-driven, community-based, and non-therapeutic model.

I was nine years old when my mother Kit died of breast cancer and I grew up desperate to meet another girl just like me. All I ever wanted to do was take girls away on Mother's Day to show them they weren't alone in their grief. Today, we get to do just that.

Founder + Ceo Cara Belvin

### Why empowerHER UK?

CHILDHOOD BEREAVEMENT is more common than people realize, and it is estimated that 7 thousand children will experience the death of a mother each year before they reach the age of 16. For most young girls, their mother is the most influential figure in her life. The loss of this maternal compass leaves daughters feeling isolated and "different" from their peers.

Office for National Statistics 2019, retrieved from https://www.childbereavementuk.org/death-bereavement-statistics.

3 GRIEF-CARE PROTECTIVE
FACTORS essential for healthy
development include: Caring
Community, Positive Role Models,
and Peer Support. Loss during
childhood often results in profound
stress and adversity and without
appropriate support, the loss may
derail a young girl's development.
Access to these 3 grief-care protective
factors is essential.



Adapted from Harvard University Center on the Developing Child 2018, Retrieved and adapted from https://www.judishouse/cbern

BE A PART OF OUR STORY

www.empoweringher.org/international | expansion@empoweringher.org





## empowerheruk

empowerHER UK PARTNERS are transformational for our young organisation and expand our reach to more at-risk girls. PARTNERS help build our capacity and improve infrastructure to support our high-growth. And, the impact is immeasurable.

The empowerHER UK PARTNERS Program recognises all donors who support empowerHER with £1000. Our PARTNERS program is about connection + relationship building and PARTNERS are part of an exclusive group of premier businesses and philanthropic individuals.

We offer the following benefits for your generous partnership:

BENEFITS	GROUND- BREAKER	CHAMPION £25,000	TRAILBLAZER £15,000	LEGACY £10,000	VISIONARY £5,000	innovator £2,500	FRIEND £1,000
	£50,000	L23,000	L13,000	L10,000	L3,000	L2,300	L1,000
Custom program that aligns with your firm's marketing strategy	•	•					
Opportunity to speak at (1) LUMINARIA event	•	•	•				
Inclusion on empowerHER UK Letterhead	•	•	•	•			
Receive all TEAM empowerHER UK sponsor benefits	•	•	•	•	•		
Invitation to Impact Event with empowerHER UK families	•	•	•	•	•	•	•
Inclusion in press, media (to include social media) and all empowerHER UK communications	•	•	•	•	•	•	•
Prominent Recognition on the empowerHER UK LUMINARIA webpage	LOGO + LINK	LOGO + LINK	LOGO + LINK	LOGO	NAME	NAME	NAME
Exclusive empowerHER UK Tote	•	•	•	•	•	•	•
Inclusion on local LUMINARIA event signage	•	•	•	•	•	•	•

### YOUR GIFT SUPPORTS

#### CAPACITY BUILDING

Invest in talent and optimise the effectiveness of empowerHER UK today and in the long-term

#### INFORMATION TECHNOLOGY

=nhance security and mprove the reliability of our database and external communications

### MENTOR

Support all screening, matching and monitoring procedures and improve training and development for all Mentors

#### EVENTS

Increase accessibility of n-person and virtual events for girls in all parts of the UK



GIFT TABLE

# PARTNERS empowerher uk

# TOGETHER WE CAN MAKE A LASTING DIFFERENCE

GIFT	QTY	IMPACT
£50,000	1	£50,000
£25,000	2	£50,000
£15,000	3	£45,000
£10,000	4	£40,000
£5,000	5	£25,000
£2,500	10	£25,000
£1,000	15	£15,000
	<del></del>	£ <b>250,000</b>

BE A PART OF OUR STORY www.empoweringher.org/unitedkingdom | info@empoweringher.org

## Company/Individual's Name : \_\_\_\_\_ (as they should appear in print) Contact Person(s): Property number/Street name: Local Area: \_\_\_\_\_ City/Town: \_\_\_\_ UK Postcode: \_\_\_\_\_ Country: \_\_\_\_\_ Phone: \_\_\_\_\_ Email: \_\_\_\_ Website: I/We hereby pledge to empowerHER UK the following gift: 1. Total Annual Gift of £ \_\_\_\_\_ 2. If applicable, this gift will be payable over \_\_\_\_ annual installments of \_\_\_\_\_ to empowerHER UK 3. Payment options: ☐ Cash/Check enclosed (payable to empowerHER UK) □ Credit Card: □ Monthly □ One-time Charge □ Card # Exp Date / CSV Code 4. Gift to be Acknowledged by: (Please choose one) ☐ Company Name (as it should appear in print) ☐ Individual Name (as it should appear in print) ☐ Anonymous 5. My gift is in honor of or in memory of: 6. My company will match my gift. (Please send paperwork to the address below) Donor's Signature: \_\_\_\_\_ Date: \_\_\_\_

PARTNERS PLEDGE CARD